3 (Sem-6) SOC M 1

2019
SOCIOLOGY
( Major )
Paper : 6.1
( Sociology of Religion )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Choose the correct option : 1x7=7

W s AfR Tfere -

(@)

A9/790

In which of the following classifications of
sociological religious theory does Emile
Durkheim’s theory of religion belongs to?

oE (O TSNS (T O Gre 2ZE
ORI 4 TR OgC! Tioe ?

(i) Symbolic interactionist
ACfoT A=em ferarRmm

() Marxist
TS

(iii) Structural functionalist
SEBARE PR

(iv) Weberian

CRIE

( Turmn Over)



(2)

(b) ’tlﬁl: ;ie‘:;;:t_xiznathat one is connected to
B TIW RE R v 9w s
PIREIE TGS, G 25
{1} religious text

4 o
(i) religious experience
45 e
(ti) religious belief
T e
{iv} religious ritual
4Ty TS

(¢} In Durkheim’s work, the term
representations’ refers to .

z;t-em-q S, RS Sy’ A=y @ 5@
1) effervescent ceremoni
a feeling of belonging

2l T Ry
A 1 9] G
(i) images of Gods o FIIST 3fe 35eq

widely recognized fotems that are
SEEIO[E %'?Q S 1 Wﬁ@w f?rg

(i) shared id
€as and
often symbolizeq i moral valyes,

¢ .
collective

es that create

figurehead an object or g
R o= 11 28

(w} ideologiCal to

e Moy -
TSI <R
A9/790 TR e pi

( Continued )

(3)

(d) Weber said that the ‘Spirit of Capitalism’
could be traced back to
AR e, ‘offeama =
(i) the movement towards religious
pluralism

£y qa@ra fwed See

(ii) inspirational Protestant groups who
revived religious ideas

Tei®) 2toErt cnnR R i HeE

(iii) new religious movements which
rejected traditional forms of labour
Ton 4T SR Ry PRS2 A
SIS

(iv) Calvinists who engaged in ascetic
practices to gain signs of salvation
efoire Ra e @Rt orRf
o I IE

(e) A sect is organized around
1 S ToRe RiPS W W (FHON -
ST ?
(i) beliefs that can be challenged by

members, a charismatic leader and
openness to new recruits

R, RERT PR 2o N
@, GE FCAR GO WFE T T
o6 A1 TR ARE

A9/790 ( Turn Over)



(2)

(b) The sensation that one is connected to

(c)

A9/790

- (iv) ideological tools

the Divine is a
@ W Ra e sw @R afes
PRFSIE TYS, G 27
{i) religious text
4 o
(i} religious experience
SRR
(i) religious belief
439
(iv) religious ritual
4 TS

In Dur im’
r kheu:ns work, the term ‘collect;
epresentations’ refers to 'S

e erve.zscent ceremonies th
a feeling of belonging e
Zlb3E B Ry PSS
P 3 9Bl G
(1) images of Gods or totem e
widely recognized R e
T FFe © GO E
gEIT| ! FE4e
(tii) slaared ideas and moral i
oiten symbolized by an objevr'i11 g
ct or a

ggul‘ehead
I fo AT
S G ey A1 et w1 ey

sl: us
class divisions ed to obscure

( Continued )

| (3)

(d) Weber said that the ‘Spirit of Capitalism’

| could be traced back to
| RTE CafeE, “oifearE S
{ij the movement towards religious
| pluralism
4T T e S
(i) inspirational Protestant groups who
revived religious ideas

o) aiErs oo o o o

(iii) new religious movements which
rejected traditional forms of labour

Wgﬂaﬁﬁamﬂﬂﬁmmﬂ@mw
T

(iv) Calvinists who engaged in ascetic
practices to gain signs of salvation

efemaired @ 1fe ARE CPR
o T FA
(e) A sect is organized around
aﬁﬁﬂ%ﬂ#mﬁ@ﬂwm.

SICHATCT ?
(i) beliefs that can be challenged by
members, a charismatic leader and
openness to New recruits

WWWWW

A9/790



5)
(4) ‘

(g) The Elementary Forms of Religious Life

(i) tolerance towards other religions was written by

and the separation of Church and The Elementary Forms of Religious Life
the State
s R
Tou 49 oifS TRe S M wF A8 s o] Mate
T FAER U i
(iii) voluntary membership, democratic ‘ g 3
leadership. and high levels of () Emile D
emotional commitment R GIARY
s 2mce ve) oY, aefie cTow e (i) M. N. Srinivas
THER S TS . qq. <.
(iv) the idea of the secular world itself as ) V. Turner
being sacred (i) - V- ol
& @ PR RRE 2w % iy
e 2. Answer the following questions very brietly - ox4=8
() Secularization involves the two related GAEECES SR R ﬁ’ﬂ : nts n
ideas of () Name any two Reformist Moveme
H-FRTFOR wTe So R @ 151 i .
WRB e India. o
5o 7 \ sreq R @I B BT
(i) disappointment and dj : ferdt ) 3
- disproportion (b)) Name any four religions of India.
1M S SPEl B
. oRes R @ B! T T . _
(i) disbelief and disintegration () Name any two religious sects 1o India.
SR w1 Reew Wﬁ@m@zﬁm%ﬂﬁﬁmml
T : igion
(ifi) disengagement and disenchantment (d) What are the differences between religlo
PR CT=3fs and magic?

7
o SRR o oy R e 3 S 2TeT SR
(iv) distribution ang distillation
RO O “ifRiagre

A9/790 (Turn O

A9/790 ( Continued )



(6)

3. Write short n
ote
fllowing S on any three of the
5x3=15

Wﬁmﬁﬁm @mem:

(a) Bhakti Movement
©f& ST

(b) Commercialization of religion

44 e

(c) Organizational effort of the Arya 8 j
SR SR ARSI 2158y o

(d) Impact of globalization on r
T SRS IR oo

EHgion

(e) Sacred and profane

IR I onfafg

4. Answer
any three of the following questi
ons :

Wﬂmﬁm%ﬁmwm 10x3=30

according to gm;

religion,
T2 TR il

790
A9/ ( Continued )

(7))

(b) Discuss the role of Neo-Vaishnavism in

reforming Indian religions.

RO T TEA IO TR G

Heenal 411

(c) Examine Karl Marx’s view on how
religion is an opium for the people and

perpetuator of social inequality.

gf 2’4 tﬂ'@ﬁﬂ‘ﬂﬁﬂﬁﬂwﬁiﬁmﬁﬂ@
T T T A G 2R 0

(d)
religio
society.

Discuss the various forms and the role of
us organizations in the Indian

SRS s A (T TRV AR S
R FICE SR T

(e) Discuss Max Weber’s theory of how
Protestant Ethics led to the development

of Capitalism in the West.

=R @3 T G @RS ©F e 4

() Define sect, cult and religion. Discuss the
important tenets of any two m

religions of India.
T Toef, TopTeNeR W @ e i 1
oed R @A T 8 1 S| TSETR

R [GIPRIRSEIN

A9—500/790

* %k

ajor
3+7=10
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3 (Sem—6) SOC M 2

2019

SOCIOLOGY
( Major )
Paper : 6.2
( Economic Sociology )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer : 1x7=T7

w7 Seach! i Sfered

() Who is the author of the book, The
Sociology of Economic Life?

The Sociology of Economic Life =3
forerree i 2 :
() B. F. Hoselitz
R, qF . oS
(i) Talcott Parsons
(BeTFH IO
(i) N.J. Smelser
&, (8. DR
(iv) David Macle Hand
(T (TS
A9/791 ( Turn Over)



(2)

(b) Who propou
S pounded the concept of ‘Laissez-

‘Laissez Faire’ 4RS! Iz o ¢
() W. W. Rostow . -
. ORI, w0l
(@) Alfred Marshall
YEIFT ey
(i) Adam Smith
o Py
(iv) J.S. Mill
(8. <. i

- fc) Where ;
‘Internatiolli;al Lie Headquarters  of
situated? our Organization (ILO)’

WﬁWWZF”@

(l) New YOrk
fgs

(i) Switzerlang
PR

(ij) London
Cr)

(iv) New Delhi
g il

A9/791

[ Continiied]

(3)

(d) Mention the year in which the Planning
in India was started.

oS SERe (] IZTO S0 AR S
CafeE ?
(i) 1947
Y584
(i) 1948
Se8Y
(iii) 1950
Yo

(iv) 1951
Seed

() What is the feature of Capitalism?
o e 2
(i) Private property
e TS
(i) Abolition of poverty

vzl fRfEread

(iij) Economic planning
Seftafes AfReHl

(iv) Mass development
A Rer

A9/791 (Turn Quer



(4) (S)

() Who is the author of the book, Planned 2. Answer the following questions : 2x4=8
Economy for India? were fia 2T e B
Planned Economy for Indig JRY -
o T {2 (@) What do you mean by Domestic Mode of
(i) P.S. Loknath Production
. 9p. @Y ] B &9t JferE o T @ e
(@ N. S. Subba Rao (b} What is Capitalism?
. 4b. T e siferam & 2
(@) K. N. Sen

(¢ What role does global market play in the

(F. 9. 5 Indian economy?
(iv) M. Visvesvaraya oS Sdifee (rEeE JEE B eel o=
. Rergr 0?2
@ I.n ghi?h year the book, Division of Labour (d) Write only two features of International
;. 0G€lY was published? Labour Organization (ILO).
SIon. of Labour in Soq; B i o 71 GRS
R 5T sy ?m Society g 22 HBLAE Q @T
(i) 1890
Span 3. Write short notes on any three of the )
N following : 5x3=15
(@) 1891 o R e FoRBR v Core ol :
Srdy
(i) 1892 (a) International Labour Organization (ILO)
SUdY TR wiiE ol
2 22 (b) Social consequences of Capitalism
Strdo 5
i@ e «fRefe
A9/791 ( Turn Quer

A9/791
[ (Trmﬁnued)



(7))

(6)
Forei :
(c) Foreign Direct Investment (FDI) (e} “Bureaucracy is an essential condition
R aror R for Capitalism.” Discuss the statement.
“sifeqra A ACHAATE <O wsifeaE = 1

IR e F4

() What do you understand by feminization
of labour? How does it impact in an

(d) Consumer’s Sovereignty

ToceIeH ARSIy

(e) Division of labour in society
THIES ¥y Reres
* economy?
s SRl P o o ? 2 R <
weifee fwea oo CoFT ?

4. An
swer any three of the following questions
O R/ I b1 e Bag forey © o
* % K

(@) Discuss the s
Sociology.
AT ey e s ogy
3 | ST SCeTsl

(b) gﬁﬁcau;{r discuss Mary’s )
conomic Sociology Perspective on

et
Neregq
WWWW:“ e W e

(c) Examine the

d) Di
(d) fzscuss atfout the socio-culty
of economic life in Indig ral aspects

A9—500/791 3 (Sem-6) SOC M 2

A9/791
( Continued )



3 (Sem-6) SOC M 3

2019

SOCIOLOGY
( Major )
Paper : 6.3
( Political Sociology )
Full Marks : 60
Time : 3 hours

The ﬁgures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer : 1x7=7
Wz Taqrs MR e
“(@ ____ is the author of the book,

Power Elite.
Power Elite 2g3d @ T
(i) C. Wright Mills
f5. 20 fem
(i) Vilfredo Pareto
feeEFTa !
(i) Max Weber
3 @™
(iv) ‘M. Foucault

. F
A9/792 ( Turn Over )



(2)

(b) — among the following is associated
with ‘authority’.
g SfaRe

(i) Hobbes
ESEY

FYR'T O iYW |

(@ M. Weber
. @¥H§

(@) Roussean
T

(iv) Locke
W

(@

is the auth 05
and Punishment, . of the book, Discipline

() M. Foucaujt
. 3

(@ C. W. Mills
5. ofi. e

(i) M. Weber
9. H¥

(iv) Robert Merton
Mo B

A9/T792

( Contimted

(3)

(d) Chipko Movement was initiated by
foolcel ST SR PR

(i) Gauri Devi
R A

(i) Sundarlal Bahuguna
SwaeTE IR

(i) Medha Patkar
G A6PR

(iv) All of them
S sR& RIS

(e) concept is associated with

T. H. Marshall.
49 e 5. @25, TR e |

(i) Citizenship and the social class
ToRey we AR e

(i) Citizenship, sex and sexuality
o, foral o R

(fii)) Governmentality
LAECIN

(iv) None of the above
@] b8 T

A9/T792 ( Turn Over')



(4) (5

Th € "
0 givzncgﬁcept of ‘circulation of Elites’ is 2. Write short notes on the following : 2x4=8
8IS 55 B s
P were AT o[ 5 Gl foril
) C.W. Mills . (a) Pressure G;(%ups
. wg®. R oI ¢
(i) V. Pareto (b) Caste in Politics
fs. CIGRLB! EANCS TS
(@) M. Weber (c) Power and Authority
9. @R & oIF 99
(@) T. Parsons (d) Consensus and Conflict
5. *IReas & o R

9 ___is not a co 3. Answer any three of the following questions :

o nditj 2
citizen of Ingis, . (O Pecoming o 5x3=15
— (T oR®y T IR R e bR Teq i
_ OB IR R oy v Ceull
{) Birth ; ;
(a) Differentiate between Interest group and
g Pressure group.
(#) Acquiring Property FACAR 2 S BIA-RIR (BT AT =1L
RIESEE T fevar
(@) Descent (b) Discuss the significance of Panchayati
R Raj Institution in democracy.

TTOTO ALRTORG IER BFY S 41 |

A9/792 A9/792 ( Turn Over)
{ Continued )



(6)

(c) Ilustrate the concepts of Acephalous and

State structure with proper examples.

CRERM W G N ARIPER TRE
TP TR o

(d) Discuss the role of identity politics in

development of ethnic communities.

TR RIre T9W A g T
S 4 |

(e) What is Political Revolution?

rEafes [Reg 92

4. Answer any three of the following questions :

10%3=30

o 2R R et bR Teg fiay -

(@) What is political sociology? Discuss how

it came to be developed as a distinct

(c)

(d)

(e)

(7))

“Power and Authority go together.”
Discuss. Describe the various types of
authority.

s TP FEGR ACFOC SIS FCI 17 SCAA
41| Rifow ooRS o9 Ry 3 791 |

With reference to any contemporary
political event or enactment of legislation
in India, examine the relation between
citizen, State and civil society.

Ao R I qEGAed Toll Sl SIee
e @d R @ wiEw R S R
Ao, TG S AR e e R
A F41

Who are the Elites? Discuss their roles in
bringing social transformation.

e G @EER? TS RIS T
CIAR SR SCeTHT P4 |

discipline () Analyze how interest groups, pressure
IS : groups and political parties help in the
BEIEEK] ﬂ%ﬁﬁ & TG0 ? AT development of the State.
WIEO% (FLE b1 5 Ry fRoreet Rept 2, R T, ol IR ol e AT
el a1 s g e e, Roee 41 |
(b) Examir'le the role of caste as a pressure
group 1n contemporary Indian politics- * kK
i) ”i"j%’ SR TS Hit-5Ewd ey ot
) SICEATo=1 90
A9/792 A9—500/792 3 (Sem-6) SOC M.

( Contif'u‘edJ



(6) (7)

(c) lustrate the concepts of Acephalous and (c) “Power and Authority go together.”
State structure with proper examples. Discuss. Describe the various types of
(RERR S A R AR e AuEngty |
TrrgepTR IZAR for | ‘e o FoeR qrercsl ifS I 1 SCED

| 411 RfSw erem ¥ Racw 31 3941 |
(d) Discuss the role of identity politics in

development of ethnic communities. (d) With reference to any contemporary

) political event or enactment of legislation

i R i SRR eI in India, examine the relation between
LSUSIRSIN citizen, State and civil society.

(e) What is Political Revolution? Arefes R @ IS ol WA SO

TRe @ R @ wiww R ey R
TefRE, B T TR eI TEE TS
I 41 |

JEASF Reg 2

4. Answer any three of the following questions :

0x3=30 () Who are the Elites? Discuss their roles in
10%5=

bringing social transformation.

9 R o e T f TEE @ EREN? WS ARTE TS S

(a) _\:’hat is political sociology? Discuss how AR ST S 4 |
It came to b s
discipline. ¢ developed as a distinct () Analyze how interest groups, pressure
IO groups and political parties help in the
0% I = G2 AT development of the State.
ik chscq'h B 4% Ry Rows) e 277, LR @, B PR (I A AT

e e Mg R e, Rore #111
(b) Examix_le the role of ¢y
* % %

A9/792 A9—500/792 3 (Sem-6) SOC M 3



3 (Sem-6) SOC M 4

2019

SOCIOLOGY
( Major )
Paper : 6.4
( Sociology of Kinship )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

woTs frcare WotTrRpIs e e -

(@) What is kinship?
Sanget A el 2

(b) Who wrote the book, The Elementary
Structures of Kinship?

The Elementary Structures of Kinship
Mt fRrorom FW 7l IS ?

(c) What is Hypogamy?
2ifScem AR 2

A9/793 ( Turn Over )



3 (Sem~6) SOC M 4

2019

SOCIOLOGY
( Major )
Paper : 6.4
( Sociology of Kinship )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

woTe T CtrRpIe e e -

(@ What is kinship?
el A1 Sl 2

(b)) Who wrote the book, The Elementary
Structures of Kinship?

The Elementary Structures of Kinship
M Rrorerm T 7@l IS ?

(c) What is Hypogamy?
aifscaT e & 2

9/793 ( Turn Over )



(d)

(e)

(2)

Who wrote the book, Family and Kinship :
A Study of the Pandits of Rural Kashmir ?

Family and Kinship : A Study of the
Pandits of Rural Kashmir 9199 223+ 14 ?

“Family is a group of persons whose
relations to one another are based upon

consanguinity and who are therefore Kin
to one another.” Who said this?

(i) Davis

() Ogburn and Nimkoff
( Choose the correct answer )

AR 29 Ry e 5 R 17 e IS

(3)

forq STBRELS ebfre AR (xR
(i) T2l Q=
(i) GFfS-FoR K=

(i) I2F AR
( o= Teco! Al Tferean )

(g) Khasi tribes living in the hills of

Meghalaya are
(i) patrilineal
(i) matrilineal

(i) conjugal
( Choose the correct answer )

RIEERE TAETOR
TF TREeN e afefde, G CIERA e PP @ A

(OSET G SrEEe 1 SUEA IR

S () Prea
(i) cofss (i) I
(i) SR w1 e (i) J A

(% Taaco! 3o Tferear )
( wm Teacs arf Bfredl )

() The most common
the world is

2. Answer the following questions : 2x4=8

form of marriage i?
O AR Tl fudl -

(1) POlyandry
(@ monogamy
(it1) polygyny

( Choose the correct answer )

(a) What do you understand by Neo-local
Family?
-7 o e & o2

| A9/793 ( Turn Over )

A9/793 ( Contirité



(4] (5)

What i
2 SHDEERE G 4, Answer any three of the following questions :
T S 2 10%3=30

(c) Differentiate between Levirate o1 four ) e foit 2rs R ¢

Sororate s i and
phice types of marriage. (@) Discuss about the challenges of marriage
virate ¥ Sororate Q=8 Tww e as a social institution in the present-day
(Y& | context.
(d) What do you understand by incest e A A el
taboo? ez RN Q@R TP R S
Incest Taboo Jfeice & 3 2 41
AL Witts  Eleth (b)) Compare and contrast the regional
. : shor not Sl . ; . . s
iy M oles on any three of the ;f::;a;tlons of kinship organization In
5x3=15 ’
oo firl R e oo @vre vy chr foray - SReq  SEEel SpRd St w0 [
3% foreet R (c) Write about the changes in family system
(b) D in India.
)
e Seq SfREE IR TR eI . [
g
~ fort 1
() Gay and Lesbian family (d) What are the main functions of a modern
I i
T AT T 9Be oy family? e
. R oREER T TR )
(d) Kinship and Gender L T
e S el 2ie (e} Write a note on influence of gender
relations in family structure in India.
s .
o} Dolieriininoe SHeq RaE TR CRge BRel e
TR ﬂ“ﬁmwﬁmaﬁ o forn |
A9/7T
/793 | A9/793 ( Turn Over)

( Continued )



(4)

(b) What is Descent?
I YT fF 2

(¢) Differentiate  between Levirate
Sororate types of marriage.

Levirate ¢ Sororate ﬁﬁTﬂ qEq  #jref<y
Ty |

(d) What do you understand by incest
taboo?

Incest Taboo 3Jfee & @2

3. Write short notes o
following :

@E@fﬁﬂfﬁC¢KﬁTﬁﬁﬁWﬁeﬁmssqcﬁﬁnﬁ#m.
(@) Marriage as contract

5 oot Rarg

(b) Dowry
g
(¢) Gay and Lesbian family
(d) Kinship and Gender
AT S sl 2oy

(e) Inheritance
CeqifeR

and

N any three of the

A9/793

( Continued )

5x3=15

(S)

4. Answer any three of the following questions :

10x3=30

wete fra i (e folwbr opm Saw fam

(a) Discuss about the challenges of marriage
as a social institution in the present-day
context.

B ol B e ol )| - B R (o B ST
QTR RN @R TIPS REc e
341 |

(b) Compare and contrast the regional
variations of kinship organization in
India.

SReY  GAWel WP Wi o [
NAFPTE (Yl |

(c) Write about the changes in family system
in India.

ST HfREE IRERE SR ooy . Raw
o i

(d) What are the main functions of a modern
family?

e wfREER o PR 6 2
(e) Write a note on influence of gender
relations in family structure in India.

SHeY AfRgE IR (Fae  FRel a9l
STooibTEd 2ol ey afb (it fore |

A9/793

( Turn Over )



(6)

(/ What are the new reproductive
technologies and its role in contemporary
society?

T AE e R srefee e
GTRRT 2T BT 7o fore |

* ok &

A9—500/793 : 4
/ 3 (Sem-6) SOC M



(6)

(/ What are the new reproductive

technologies and its role in contemporary
society?

T o AR & o sTrefee swwe
TR 2 BT Soics oy |

L8 &

—500/7 4
A9—500/793 3 (Sem-6) SOC M



3 (Sem—6) SOC M S

2019

SOCIOLOGY
( Major )
Paper : 6.5
( Sociology of Gender )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer : 1x7=7

w7 Teac! MR Sfered
(@) is an ascribed status.

X &b e gl

(i) Class
A
(i) Doctor
ol
(iii) Caste
019
(iv) Ph. D.
fr4ze. fo.
1794 ( Turn Over )



(2) 039

{b) is the belief that the status of

female is inferior to the status of male.

(d) Women, Race and Class is written by
Women, Race and Class 3234 ffafes

g ‘T*’?; 61 Rt Rt S e
Rk thaell (i) Irawati Karve
i) Racism = I
BRICERE]
(i) Sherry Ortner
(i) Ageism & EIRCRITIE
(iii) Angela Y. Davis
(@) Sexism U T2 (TfoR
o
_ (Ll (ivj Bina Agarwal
(iv) Feminism Rl oA
IR
fc) is socially constructed (¢) Meira Paibi is a Women’s Movement
2'F AR e ’ which took place in
|
: ? i <A 2 1 R e R i
(i) Sex
Toist i) Assam
4 S
() Gender
foresy 99 (i) Manipur
(i) Laws of Gravity
Tt 37 (i) Mizoram
: fitERme
(iv) Moon

(iv) Nagaland

b
BRG]

A9/794
(Conﬁnued] P ( Turn Over)



(4) (5)

1] ¥ is associated with Anti-AFSPA 2. Answer the following questions : 2x4=8
ovement. i
o] 2T :
e R e wee wfive |
(i) Shabana Azmi (@) What is sexuality?
AR ST forearrael 19 2
() Medha Patkar (b) What is gender violence?
YY1 AR
foreat et fom 192
(i) Irom Sharmila
295 #fia (c What are the differences between
masculinity and feminity?
{iv) Nandita Das
5
Tt g TIE TR A& AT R
(d) Mention two women’s movements which
(g) g i.s a Women Empowerment Scheme took place in post-Independent India.
ot Seq TR S PR B R S
R R RATI <51 o | ekl
(i) Soil Health Card Scheme
§ﬁ F oq S5 3. Write short notes on any three of the
(i) Beti B following : 5x3=15
e .
s achao Beti Padhao Scheme oo R I TR @R oY (Br T -
dre @M “mre sipf
(@) Pradhan Mantri Gram Sadak Yojana R/ R
ST 2 55 SRy ) fopcel O PRl 2R
(iv) Livestock Insurance Scheme (b) Socio-biological theory
R A S SR -CaRT ©F
A9/794 ( Turn Over )
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(%) (5)

(/) — is associated with Anti-AFSPA 2. Answer the following questions : 2x4=8
Movement.
To 2FEPTIRA Ted faan
o Rea@ Sieee were wfve |

(i) Shabana Azmi (a) What is sexuality?

AR S foraead 2
(i) Medha Patkar (h) What is gender violence?
T ABFR
forel 2l R 2
(iij) Irom Sharmila
399 wfife () What are the differences between
masculinity and feminity?
(iv) Nandita Das
(?
Af3re! 7 IR S Rrea e afeew &2

(d) Mention two women’s movements which
took place in post-Independent India.

7/ ; di§ a Women Empowerment Scheme
e SRed TSl e PiEg 1 AR ST
XA AR AR <GBy Sy | T 39|
(I) Soil Health Card Scheme
§ﬁ i) 3. Write short notes on any three of the
(i) Beti following : 5x3=15
) Beti Bachao Beti Padhao Scheme o R @i foMeR wie 5 o forn
@ 3v18 @D 518 SRy

(a) Sex and gender

(@) Pradhan Mantri Gram Sadak Yojana forzal e ol &=esel
A N

AT 2 55 Sif
(iv) Livestock Insur (b) Socio-biological theory
. ance Scheme
RO T B AR - (SR ©F
A9/T794 ( Turn Over
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(c)

(6)

Gender and race

el 259 o I

(d) Chipko Movement

B SCHIee

(e) Masculinity

URRL

4. Answer any three of the following : 10x3=30
e R e fofer e i -

(a) Elaborate on the perspectives of

(b)

()

(d)

A9/T794

understanding gender.
foat oael oS <41 GRAPTR < 41 |

Do we perform gender? Discuss.
N ool 2P 2Pl FCIIG 2 SgEseT 4 |

Discuss _ the role of education in
empowering women.

TS ST Frev S szan <541 |

I S H.lale to female ;
. as nature
1 . to Culture

w%wwwﬁ@ﬁmﬁﬁ
S SRFIOCN T gT T 2 SCE 9 |

{ Cont.inued)

(7))

(e) 1s violence against women assertion of
patriarchy? Comment.

S i Ll e
A |

() Discuss how caste and gender work to
dominate women.

o W Fral 299 @ A S IR
T, AT 0 |

* kK
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SOCIOLOGY
( Major )
Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct options : 1x7=7

w7 R MR Sfered :
(a) Demographers study includes all of the
following, except
PRyl REApE I 3 SO FREl
YR FC9 |
(i) fertility
Tl
(iij) mortality
PEERIE
(iii) marriage
=z
(iv) social mobility
i afoeTe!
A9/830 ( Turn Over )



(2)

(b) According to 2011 Census, sex ratio of
India is

2033 CIFPEE T, SRed ot Soire
?9q
(i) 940 females per 1000 males
5000 T TS d80 A
(ii) 933 females per 1000 males
5000 [FF YD 509 CiGi|
(i) 1048 females per 1000 males
000 %I TS So8y QI
(iv) 920 females per 1000 males
2000 “[FF TS byo I

(c) then did National Population Policy of
India come into effect?

B TPRA SR SHes
ey SO (P R e

(i) 2001
005 5@

(i) 1947
55819 Hefw

(iii) 1952
S5ER He

(iv) 2000
R000 Baw

(3)

(d) Which of the following is an important
social indicator to measure to extent of
equality between males and females in a

society at a given time?

o @ aFgd T poe @ e
W@WWWWWWﬂ

FE?

(i) Age composition
T st /FRCATE

(ii) Literacy rate
ArFqe S

(iii) Sex ratio
foral SRS

(iv) Death rate
T TS

(e) How is population density calculated?

TP T (T Siefel F91 2 ?

(i) Area divided by population
SEER TR T

(ii) Population divided by area
SR SR 2 T

(i) Population multiplied by area
SR e o R

(iv) Population divided by GDP

GDPGE SRR T84 #

A9/830
( Continued}
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e (5)

(/ NRHM was |
aunched in
NRHM S¥8 ¥4I (2fza - 2. Answer the following questions : Ix4=8
, CEE Taq fumn
(i) 2011 APTRS

Define the term 4otal fertility rate’.

05 H@ ‘
4 (a)
i
(42005 oo el TR DA R T |
200¢ B9
(iii) 2010 (b) Define ‘demographic transition’.
R0%0 579 Wmﬁﬁﬁm’aﬂ@ﬁmn
(iv) 2015
205¢ BT 7 (c What is the difference between
fecundity and fertility?

Wwwmmvfﬂﬁ?

e
(9) Principles of Population Studies is writt rtili

en
fine fertility and mortality.

by
Pffnciples Of P {d) De
opulati :
forss 2'a pulation Studies g4+ Sdqe] TF TEeTOr RE fim 1
() Asha A. Bh |
- Bhende and T .
O Q. (S0 HIF SR ;I, § it 3. Write short motes on the following

(any three) : 5x3=15
Wﬁmmemﬂmﬁm (R e fofmt) -

(i) S. N. Agarwal

b, G, FI99re
(i) M. L. Jhingan (@) National Rural Health Mission (NRHM)
. @1, Rygory <P e T S (NRHM)

(b) Demography and gerontology

(iU) M. N. Sl'inivas
AN CEICACISS R

9. . R

A9/830
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(6) (7))

(c) Discuss about different push and pull

(¢) Relationship between sociology and

demography factorS' g migf%atiﬁﬁon' PIcatio) feoie

TG B[ SR RS Were o7 oy il

R e S 41 |
(d) Factors of fecundity
(d) Critically discuss Malthusian theory of
WW population.
” Ao SR S O

(e) .Rural—urban composition of populatio SR \

in India 3 i

Write an essay on the population policy

S SRR ATl i )
of the Government of India.
4. Answer any three of the following questions : O[T TPRY SR eI REEm 93 o
' farn |
o R e fofibt enq g figy Hrg=8g
- () Can you establish the relationship
inequality  and

between  gender

(@) Define social
de ;
mography.  Briefly population growth? Illustrate your view

illustrate the naty
re :
demography. and scope of social with proper examples.
AT TR R %aﬁ-mqmwwwqﬁmmgﬁ
Wmmmw’fﬂw frar 1 e o wo IR A7 ARE TRITR
TS 4T | T ﬁmﬂ'ﬁﬁ$ g oS JRI F4
(b) Critically elucj
ucidat :
theory. € Optimum population Ll
TG SR @y
0 TSRSy Rrpsel
3 (Sem-6) SOC M 6
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